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You have been given this question booklet and a separate answer sheet. The question booklet contains 90 questions.
Do any necessary rough work in this booklet.
When you have chosen your answer, mark itonthe ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
Use only an ordinary pencil.
Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOURSCHOOL
By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number and the
three-figure Candidate's Number) in the grid near the top of the answer sheet.
Do not make any marks outside the boxes.
Keep the sheet as clean as possible and do not fold it.
For each of the questions 1-90 four answers are given.The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer.
On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet:
44. The method used by the Portuguese to administer Mozambique was
A. Assimilation
B. Indirectrule
C. Association policy
D. Directrule
The correctansweris “D”.
On the answer sheet:
n tAr Ba1Cr D tAr tB1tCr D tAr tB1Ca D tAr B Ch IDI tAr tB1 tCa o
In the set of boxes numbered 44, the box with the letter D printed in it is marked.
Your dark line MUST be within the box.
For each question ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 12 printed pages.
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17.

18.

C. Looking for food for the family

D. Earning a living

Which one of the following is NOT a factor
leading to rapid population growth?

A. Favourable climate

B. Urbanisation

C. High motality rate

D. Early marriages -

Among the four benefit of t&unsm to our
country, which one is the MOST important?
A. Improving transport

B. Earn foreign exchange

C. Creation of jobs

D. Promotion of good relations

Which one of the following is the quickest

method of sending a verbal message over a

P 1

| 20.

D Insecurity
The town
~ with gold mining is

~ long distance?
€. Messenger D. Telephone

The following are pmbiems facing trade
within the East African community members,
Which is the majorone?

A. Inadequate goods

B. Production of similar goods

C. Poor transport

;ﬁtﬁ Africa which is associated

‘ N Johannesberg
- B. Durban

21

C. Pretoria

D. Cape town

(COMESA ) has its headquarters basedm
A.Lagos — Nigeria

B. Gaborone - Botswana

C. Lusaka - Zambia

b, Arusha Tanzania

22.

The Nandi opposed the colonial m}e led by
A. Mukite wa Nameme

B. Waiyaki wa Hinga

C. Mekatilili wa Menza

D. Koitalel Arap Samoei

. The reason for the coming of the exp]erers to

Eastern Africa was to
A. find the source of River Nile



26.

27.

28.

29.

30.

B. settle in Eastern Africa

C. find new market for their manufactured
goods

D. spread Christianity

In which stage of evolution was fire invented?
A. Homo habilis

B. Homo erectus

C. Homo sapiens

D. Ramapithecus

. The following crops were grown in traditional

agriculture EXCEPT

A.tea

B.yams

C. cassava

D. millet

One of the following is NOT a problem facing

poultry keeping. Which one is it?
A. Costly chicken feeds

B. Unstable market prices

C. Numerous chicken diseases

D. Inadequate processing facilities

The community which was displaced ﬁ*é)m ‘ ‘

Shungwaya by the Galla cammamtv 15
A. Njemps ~ ~
B. Nandi

C. Pokot

D. Pokomo ;

Among the following four uses of mineral,
which one is for flourspar?

A. Making tooth pastes
B.Makingglass

C. Making water filter

D. Making food flavour

Which of the following is the correct order
in the process of soda ash?

A. Pumping = Drying = Heating

B. Dredging = Heating = Washing

C. Dredging = Washing = Grinding
D. Washing = Drying = Dredging
East African export MAINLY deals with
A. agricultural export ;
B. petroleum

C. wildlife

D. minerals

31. Which one of the following : mduemezs would

paper industry be placed?
A. A service ~
B. Anassembly
C. Processing
D. Manufacutring

32. The council of elder which assisted the
Nyamwezi chief to perform religious duties
was known as .
A. Kabaka
B. Lukiko
C. Wanyamphala
D. Nabongo

33. The leader who worked thh the colonizers is

A. Laibon Lenana

B. Mukite wa Nameme

C KabakaMwanga
~ D.ChiefMkwawa

34, Which one of the fﬂﬁcwmg shows the
- process taking place above? ?
A Faulting
B. Folding
C. Glaciation
D. Volcanicity
35. The lake which farmad thmagh the above

process is
A. Lake Malawi
B. Lake Teleki
C. Lake Shava
D. Lake Kivu
36. Three of the following factors influence



37.

~ population distribution. Which one does

NOT?
A. Ocean current
B. Vegetation

- C.Drainage

D. Climate

Which one of the following is NOT a language|
~ group in South Africa?

A Khoisan

B. Afro-Asiatic

 C.Bantu

~ D.Europeans
38,

The following were methods used in the

-  traditional education EXC EPT
A story telling

' B reading

C. participation

D, observation
39.

Peter lives with his father and §ist€1‘5 Thm
family is known as

A nuclear family
~ B.extended family
£ manogama}m tamﬂy '
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D btg family
40. T
= dﬁvalﬂ’pment is

T’ha town Which started asa result of industrial

, ‘?ﬂ,mka

- T'I‘he Ugancia chmf fﬁ(}d is
A beam

C ries

- D. maize
42,

thgh one of the following is ! ‘JOT a

< ;caﬂaewanon measure?

A De—f@r@statzan

- }3 Gazeﬁmg natural forests

(. Re-afforestation

D. Afforestation
Which one of the following towns in Eastern

Africa is an inland pc;rt’

' - A Kisumu
B.Kismayu

45.

- 46.

C.Arusha

D. Mombasa

The statement which is TRUE about the
Tswana and the Fulani is

A. they migrated from a common origin
B. they are Bantu speakers

(. they are found in Southern Africa

D. they keep large herds of animals
The dam which is CORRECTLY matched with
the river on which it is located is

A. Kariba ~ . RiverTana
B. Akosombo  — River Volta
C.Masinga - River Nile
D.Aswan... - River Zambezi
Nigeria’s MAIN export mineral is
A. diamond - B.gold

~ C. petroleum

47.

48.

D. copper

The modern method of fishing shown in the
diagram aboveis

A. trawling

B. purse seining

C. long lining

D. net drifting

One of the following is NOT true about

~ political changes that took place in Kenyain

49.

1906. Which one is it?

A. The title of commissioner changed to that
of a governor

B. Kenya was declared a colony

C. Colonel Sir Janes Hayes Sadders bacame
the governor

D. Legco was established

The following countries are members of

IGAD EXCEPT :




50.

31.

56.

A. Djibouti
B. Kenya
C. Tanzania
D. Uganda
Which one of the following is NOT a way of
demonstrating patriotism?
A. Paying taxes
B. Breaking peace
C. Voting in the general election
D. Being a person of integrity
Which one of the following factors does
NOT promote peace?
A. Ensuring fair distribution of resources
B. Stealing other people’s items
C. Respecting other people’s rights
D. Obeying the law of the land
The MAIN reason for the construction of the
dam along River Zambezi was to
A. produce hydroelectric power
B. control floods
C store water for irrigation
D. improve tourism

. The following are Mzmd& a;meakers EX(;EP',E

A. Susu

B. Sonike
C. Yoruba
D. Mande

. Which one of the following groups does

NOT have its origin in the horn of A frica?
A. Somali, Borana, Rendile

B. Burji, Gabbra, Rendile

C. Gabbra, Somali, Oromo

D. Samburu, Rendile, Borana

In which of the following ways does the
President exercise the prerogative of memy
A. Appointing Ministers

B. Helping the needy in society

C. Releasing convicted criminals

D. Visiting people in the country

Which one of the following is a form of
lawlessness in the society?

A. Respecting other people’s property

B. Beating up a suspected criminal

C. Settling disputes in a court of law

58.

60.

61.

D. Taking a suspect to the police
Who chairs debates in the National
Assembly?

A. Speaker

B. President

- C. Attorney General

D. Woman Representative

The group which CORRECTLY shows

members of the Senate is

A. President, Deputy President, Attorney
General

B. 47 Senators, 16 nominated Women
Representatives, Speaker

C. Speaker, Members of Parliament,
Women Representatives

D. Women Representatives, Members of
Parliament ;

. The list below are functions of the electoral

body in Kenya:

i) Announcing elections results

ii) Registering voters

iit) Clearing candidates by the electoral
body

) Idb?fi’hﬁ?mg p{}!l{ﬂg stations
Arrange the avenm in ordef in wh:ch they

take piace

A. (i1), (iv), (ith), (i)

B. (i), (ii), (iv), (i)

C. (1), (iv), (i11), (i1)

D. (i1), (iv), (iid), (i1) ,
Which body organises and supervise
elections in Kenya?

A. Various Ministers

B. Registered voters

C. The Police

D.LEB.C

CRE
Which one of the following was the reason
for God to put man in the garden of Eden?
A. He had made him in His image
B. He wanted him to be incharge
C. He wanted man to cultivate and guard it
D. He wanted to punish man
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" 5 Nmanor -
A Gamahei
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84.

;“Ciﬁhn

initially called

A telling yo

A Peter

I)Mathlas -
For peaple to be. heaieci by Jesus, they were

, chqmre:d to have .

Befare Maﬁhew chf od

A. Mark

B. Sxmgn‘, ;
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Three of the fol
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A.Bethany
B. Corinth
C.Jerusalem
D. Egypt

The fourth c@mlmandny 1 s ays that we -
should -

wﬂh her hte




	SST CYCLE 9
	SST SET 20



